IASMC 2 Wheel Obstacle Course

26’ 13 0
I | |
150°
/ A\ O >
O ‘ —140
\‘}"‘/\/
| 13 | ,
/ N\
—]128’
~ I I \\
o \
O —~ ®| r=6&I13 ® IR Ll :{%%:
2 R
\ N |
\\ N
5 S \
O ! I N —105’
f - =102
’j> r=6-&13’ ® Z
® ] B —-99
4)
| |
\ / /
® / .
T
v / /
|
X | 1= 6’&13’ _80’
[6)
= B L =73
p |
- 69’
3
T ’
O —5900
H+
§ s :
I
40
Legend 18 ' \ \
1 =1 square foot N BT T
O = Cone r=6 &|13 i 3
I — = Measurement Tics = — ® — — ®r=6&13
® = Radius Center \ // / \ \
= Di i ; O | N >
- l(i})fp?aittido 31 tgge}g ence \ - / \ Tl 20
N / N \
r=6&13 ® = =
6)
STOR STTART] o

90’ 85’ 70’ 57’ 50’ 44 37 30 24 17 7 0’



